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A Narrative

Not A Narrative

The family of Dashwood had long been settled in Sussex. Theirestate was large, and their residence was at Norland Park, in thecentre of their property, where, for many generations, they hadlived in so respectable a manner as to engage the general goodopinion of their surrounding acquaintance. The late owner of thisestate was a single man, who lived to a very advanced age, andwho for many years of his life, had a constant companion andhousekeeper in his sister. But her death, which happened tenyears before his own, produced a great alteration in his home; forto supply her loss, he invited and received into his house the familyof his nephew Mr. Henry Dashwood, the legal inheritor of theNorland estate, and the person to whom he intended to bequeathit. ( Jane Austen, Sense and Sensibility)
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Two Narratives

(1) Juliet left. Romeo cried.

(2) Romeo cried. Juliet left.
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More than the sums of their parts

(3) a. Max owns several classic sports cars.
b. He has two 1967 Spiders!

(4) a. Tonkee had a paper in Glossa.
b. But they didn’t get tenure.

(5) a. I had a great dinner.
b. I made steak.

(6) a. B: I burned my dinner.
b. B: I made steak.
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Like words compose to sentences, sentences
compose to narratives.
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Compositional Semantics
1. You know the meaning of a sentence if you know what isrequired for the sentence to be true.
2. The meaning of a complex expression is determined bywhat its parts are and how they are combined.

The semantics of narratives is the same.
What are the parts?

And how do they combine?
And to what?
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Anaphora



� What about sentences like this:
(7) He walks.
(8) Then someone walked.
(9) So am I.
� Do you know what is required for these sentences to be true?

such sentences are parts of bigger wholes
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Anaphora

� An expression whose meaning depends on a prior expression iscalled an anaphor.
(roughly)

(10) There is a man. He walks.
(11) Nobody was moving. Later, someone walked.
(12) Damaya is upset. So am I.
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Incoherence

� Call a narrative incoherent if you cannot understand it.
> More precise definitions of “incoherence” in due time.

� There are different reasons for a sentence to be incoherent, butwe will focus first on incoherent use of anaphora.

(13) There is nobody. 7He walks.
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There are a lot of them!

� We saw pronominal anaphora (“he”), temporal anaphora (“later”),adjectival anaphora (“so”).
� Event anaphora:
(14) Tonkee hit Binof. It caused a fight.
� Propositional anaphora:
(15) Damaya believes it is raining. Essun doubts that.
� Type anaphora:
(16) Hoa gave a presentation. Jija gave one too.
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��� AND THEY ARE NOT TRIVIAL

� 9OU MAY NOW THINK�

3AY“ HAVE TWO SENTENCES�“ UNDERSTAND THE TRUTH
CONDITIONS OF THE
1RST� BUT THE SECOND CONTAINS A�HE�� “F THE TRUTH
CONDITIONS OF THE
1RST ARE SUCH THAT THERE IS A MALE PERSON IN EVERY SITUATION WHERE
THE SENTENCE IS TRUE� THEN�HE� REFERS TO THIS PERSON�

� “F YOU THINK THAT� YOU ARE VERY VERY CLEVER�

!NAPHORA �� = ��
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.OT JUST TRUTH
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-ORE LIKE THIS

���	 4HERE ARE SOME MEN� 4HEY WALK�

� $OUBLE NEGATION�

���	 4HERE AREN�T NO MEN�74HEY WALK�

� 1UANTI1ER DUALITY�

���	 “T IS NOT THE CASE THAT EVERYONE IS NOT A MAN�74HEY WALK�

!NAPHORA �� = ��



4HERE IS ONLY ONE CONCLUSION TO DRAW�

4HE REFERENTS THAT AN ANAPHOR REFERS BACK TO ARE NOT
�MERELY	 PART OF WHAT IS TRUE� BUT INSTEAD THEY ARE TIED TO
PARTICULAR LINGUISTIC EXPRESSIONS�

!NAPHORA �� = ��



� !NAPHORA IS A CENTRAL PART OF HUMAN LANGUAGE USE�

� ! LITTLE JOKE“ FOUND ON THE INTERNET�

���	 A� (UMAN� 7HAT DO YOU WANT�

B� #OMPUTER� 4O UNDERSTAND ANAPHORA�

C�(UMAN� 7HEN DO YOU WANT IT�

D� #OMPUTER� 7HEN DO“ WANT WHAT�
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3OME TERMINOLOGY

� ,ET�S SAY THAT AN ANAPHOR BINDS TO A PREVIOUS EXPRESSION�

���	
! WOMAN IS IN THE PARK� 3HE WALKS�

� ,ET�S SAY THAT SUCH EXPRESSIONS THAT ANAPHORA CAN BIND TO HAVE
BINDING POTENTIAL�

!NAPHORA �� = ��



"LOCKED POTENTIAL

� �SOMEONE� HAS BINDING POTENTIAL FOR PRONOMINAL ANAPHORA�

���	 3OMEONE WALKS� 3HE LOOKS HAPPY�

� "UT NOT IN ALL SENTENCES�

���	 “T IS NOT THE CASE THAT SOMEONE WALKS�73HE LOOKS HAPPY�

���	 %ITHER SOMEONE WALKS OR IT RAINS�73HE LOOKS HAPPY�

���	 “F SOMEONE WALKS� IT IS SUNNY�73HE LOOKS HAPPY�

!NAPHORA �� = ��



7E WANT A SYSTEMATIC THEORY

OF WHAT BINDING POTENTIAL IS

AND OF WHEN WE CAN ACCESS THIS POTENTIAL�

!NAPHORA �� = ��



"INDING



3ENTENTIAL #ONNECTIVES

� 7E ALREADY KNOW SOME EXPRESSIONS THAT COMPOSE SENTENCES�

� AND^

� OR_

� IF ��� THEN!

� !ND SOME EXPRESSIONS THAT MODIFY SENTENCES�

� NOT :

� MAYBE �

"INDING �� = ��



3ENTENTIAL #ONNECTIVES �CONTD�	

� “F YOU HAVE TWO SENTENCES! AND" WHICH YOU UNDERSTAND� THEN
YOU ALSO UNDERSTAND�

� ! AND " IS TRUE IF! IS TRUE AND" IS TRUE�

� ! OR " IS TRUE IF! IS TRUE OR" IS TRUE�

� IF ! THEN "IS TRUE IF! IS FALSE OR" IS TRUE�

� NOT !IS TRUE IF! IS FALSE�

� �LET�S NOT WORRY ABOUTMAYBERIGHT NOW	

"INDING �� = ��



! FIRST ATTEMPT

� ! LOGICIAN WOULD SAY THAT EXPRESSIONS WITH BINDING POTENTIAL ARE
LIKE EXISTENTIAL QUANTI1ERS�

SOMEONE� 9 X

���	
3OMEONE WALKS� 3HE LOOKS HAPPY�

9X:walk(X) ^ looks-happy (X)

"INDING �� = ��



� 5NIVERSAL QUANTI1CATION DOES NOT HAVE BINDING POTENTIAL FOR
SINGULAR PRONOMINAL ANAPHORA�

���	
%VERYONE WALKS� 3HE IS HAPPY�

7

8X:walk(X) ^ looks-happy (X)

7

"INDING �� = ��



$ONKEY !NAPHORA

� 4HIS WON�T WORK OUT�

� $ONKEY SENTENCES �0ETER 'EACH� ����	

���	 “F A FARMER OWNS A DONKEY� HE BEATS IT�

9X9Y:(( farmer (X) ^ donkey(Y) ^ own(X; Y)) ! beat (X; Y))

3UPPOSED TO MEAN�ALL FARMERS BEAT ALL THE DONKEYS THEY OWN�
8X8Y:(( farmer (X) ^ donkey(Y) ^ own(X; Y)) ! beat (X; Y))
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“T REALLY IS THE ANAPHOR�S FAULT

� “T�S NOT BECAUSE THERE ARE TWO ANAPHORA�

���	 “F A DONKEY IS NOT BEATEN� IT�S HAPPY�

� “T�S NOT BECAUSE�A FARMER� IS DIŠERENT FROM�SOMEONE��

���	 “F SOMEONE LOVES SOMETHING� HE WON�T BEAT IT�

� “T�S NOT BECAUSE OF THE�IF��� THEN��

���	 %VERY FARMER WHO OWNS A DONKEY BEATS IT�
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� !GAIN� THIS IS AGENERALPROPERTY OF ANAPHORA�

!DJECTIVAL�

���	 “F (OA IS AWAY� THENSO IS $AMAYA�

�4HEY ARE ALWAYS TOGETHER	

4EMPORAL�

���	 “F“ DRINK� THEN“�M HUNGOVERTHENEXTMORNING�

0ROPOSITIONAL�

���	 “F $AMAYA SAYS SOMETHING� %SSUN WILL QUESTIONIT�

"INDING �� = ��



$ISCOURSE 2EPRESENTATION 4HEORY



$ISCOURSE AND 3TORY

� “N LITERARY CRITICISM� ONE SEPARATES A NARRATIVE INTO STORY AND
DISCOURSE�

� ! DISCOURSE IS A TEXT� 7HAT HAPPENS MIGHT BE REPORTED OUT OF
ORDER�

� ! STORY IS THE SEQUENCE OF HAPPENINGS THAT IS DESCRIBED IN THE
TEXT�

� “F WE ARE READING A DISCOURSE AND WE CANNOT DETERMINE THE STORY�
WE1ND THE DISCOURSE INCOHERENT�

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



7HAT IS A STORY�

� 7HAT�S IN A STORY� 4HINK OF IT LIKE A THEATRE PLAY�

�� 4HE REFERENTS� �ORDRAMATIS PERSONAE	�

�� 4HE CONDITIONS� WHAT THE REFERENTS DO � WHAT HAPPENS TO THE
REFERENTS�

� 4HE SENTENCE�(E BEATS IT� DOES NOT HAVE TRUTH
CONDITIONS�

� “T ONLY HAS MEANING IF WE KNOW WHICH ACTOR�HE� IS�

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



$ISCOURSE IS (/7 A NARRATIVE IS TOLD�

3TORY IS 7(!4 HAPPENS IN THE NARRATIVE�

! STORY CONTAINS THINGS WE TALK ABOUT AND WHAT
HAPPENS TO THESE THINGS�

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



$ISCOURSE 2EPRESENTATION 4HEORY

� 3O LET�S JUST DOEXACTLY THAT�

� 7E USE A UNIVERSAL LANGUAGE TO DESCRIBE STORIES CALLED DISCOURSE
REPRESENTATION THEORY �$24	�

� 3TORIES CONTAIN ACTORS� AND SAY SOMETHING ABOUT THESE ACTORS�

� .ATURAL ,ANGUAGE
$ISCOURSES

 3TORIES
ACTORS

EVENTS
7!

4RUTH #ONDITIONS
-EANING
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$ISCOURSE 2EPRESENTATION 3TRUCTURES

� 0REVIOUSLY� WE TRIED TO ASSIGN TRUTH CONDITIONS TO DISCOURSES
DIRECTLY� BUT WE DIDN�T GET FAR�

� 3O WE CONSTRUCT AN INTERMEDIATE REPRESENTATION FOR STORIES�

� ! �BOX� THAT KEEPS TRACK OFWHAT THERE ISSEPARATELY OFWHAT THESE
THINGS DOIS CALLED A $ISCOURSE 2EPRESENTATION 3TRUCTURE�

X� ; X� ; :::; XN

' �

' �

���

' N

 THE THINGS WE TALK ABOUT

 WHAT WE SAY ABOUT THESE THINGS

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



$ISCOURSE 2EPRESENTATION 3TRUCTURES

� 0REVIOUSLY� WE TRIED TO ASSIGN TRUTH CONDITIONS TO DISCOURSES
DIRECTLY� BUT WE DIDN�T GET FAR�

� 3O WE CONSTRUCT AN INTERMEDIATE REPRESENTATION FOR STORIES�

� ! �BOX� THAT KEEPS TRACK OFWHAT THERE ISSEPARATELY OFWHAT THESE
THINGS DOIS CALLED A $ISCOURSE 2EPRESENTATION 3TRUCTURE�

X� ; X� ; :::; XN

' �

' �

���

' N

 THE THINGS WE TALK ABOUT

 WHAT WE SAY ABOUT THESE THINGS

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



3EPARATION OF 2EFERENCE AND 0REDICATION

� “ THINK IT IS AN EXTREMELY GOOD IDEA TO DO IT LIKE THIS�

� 7E WON�T DO DIALOGUES JUST NOW� BUT CONSIDER THIS�

���	 A� (OA� 4HERE IS A CAT OUTSIDE�

B� *IJA� .O� IT�S A DOG�

���	 A� (OA� 4HERE IS A CAT OUTSIDE�

B� *IJA� “T IS NOT THE CASE THAT THERE IS A CAT OUTSIDE�“T�S A DOG�

���	 A� (OA� 4HERE IS A CAT OUTSIDE�

B� *IJA� 4HERE IS NO CAT OUTSIDE�“T�S A DOG�
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! 3IMPLE $23

� �! FARMER BEATS A DONKEY��

�

F; D

farmer (F)

donkey(D)

beat (F; D)

�


f F; Dg; f farmer (F); donkey(D); beat (F; D)g

�
�

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



.OW� THE STROKE OF GENIUS �(ANS +AMP	�

3TORIES HAVE 3UB
STORIES�

"OXES CAN APPEAR IN BOXES�
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! ,ESS 3IMPLE $23

���	 “�M HAVING A PARTY�

“F $AMAYA IS COMING TO IT� SHE WILL BRING WINE�

J; P

Julian (J)

party (P)

have(J; P)

D

Damaya(D)

coming(D; P)

)

W

wine(W)

bring (D; W)

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



4HE ,ANGUAGE OF $23S

� 4AKEREFA SET OF VARIABLES�

� 4AKENAME A SET OF DESIGNATORS ��NAMES�	�

� 4AKEPREDA SET OF PREDICATES � PROPERTIES�

� ! $ISCOURSE 2EPRESENTATION 3TRUCTURE IS A BOX+ =
REFS

CONS

� #/.S ARE CONSTRUCTED AS FOLLOWS�
� IF. IS A .!-% AND XIS A 2%&�. (X) IS A #/.�
� IF0 IS A 02%$ ANDX� ; :::; XN ARE 2%&S�0(X� ; :::; XN) IS A #/.�
� IFXANDYARE 2%&S�X= YIS A #/.�

� IF+ IS A $23� THEN: + AND� + ARE #/.S�
� IF+ AND+0ARE $23S� THEN+

W
+0 IS A #/.�

� IF+ AND+0ARE $23S� THEN+ ) +0 IS A #/.�
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� 4AKEREFA SET OF VARIABLES�

� 4AKENAME A SET OF DESIGNATORS ��NAMES�	�

� 4AKEPREDA SET OF PREDICATES � PROPERTIES�

� ! $ISCOURSE 2EPRESENTATION 3TRUCTURE IS A BOX+ =
REFS

CONS

� #/.S ARE CONSTRUCTED AS FOLLOWS�
� IF. IS A .!-% AND XIS A 2%&�. (X) IS A #/.�
� IF0 IS A 02%$ ANDX� ; :::; XN ARE 2%&S�0(X� ; :::; XN) IS A #/.�
� IFXANDYARE 2%&S�X= YIS A #/.�
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W
+0 IS A #/.�

� IF+ AND+0ARE $23S� THEN+ ) +0 IS A #/.�
$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



! NEW WAY TO THINK !BOUTIFANDEVERY

� 4HE IDEA�

� � “F A FARMER OWNS A DONKEY� HE BEATS IT� IS A BIT LIKE 7HENEVER A
FARMER OWNS A DONKEY� HE BEATS IT�

� "ETTER YET� WRITE7HENEVER THE STORY IS SUCH THAT IT CONTAINS A
FARMER� A DONKEY AND THE FARMER OWNS THE DONKEY� THEN THE STORY IS
SUCH THAT THE FARMER BEATS THE DONKEY�
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“NDEFINITES VS 1UANTIFIERS

�! MAN WALKS��

X

man(X)

walks (X)

�%VERY MAN WALKS��

X

man�X	
)

walk(X)
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"INDING 0OTENTIAL

� 4HE CONDITIONS IN A BOX CAN TALK ABOUT THE REFERENTS ON THE TOP OF
THE SAME BOX�

� "UT SOMETIMES� REFERENTS ON TOP OF ONE BOX ARE AVAILABLE TO TALK
ABOUT IN OTHER BOXES�

� “NTUITIVELY� IN A SUB
STORY YOU CAN TALK ABOUT THE ACTORS OF THE
BIGGER STORY�

� "UT IN THE BIGGER STORY YOU ARE NOT �ALWAYS	 ALLOWED TO SPEAK
ABOUT ACTORS OF A SUB
STORY�
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"INDING� 4HE 2ULES �INFORMAL	

� 9OU CAN GO LEFT IN CONDITIONALS�

� “F A $23+0 IS CONTAINED IN A $23+� THEN IN+0YOU CAN TALK ABOUT
REFERENTS IN+�

J; P

Julian (J)

party (P)

have(J; P)

D

Damaya(D)

coming(D; P)

)

W

wine(W)

bring (D; W)
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!ND &ORMALLY �NOT AS BAD AS IT LOOKS	

3UBORDINATION
! $23 +0 ISIMMEDIATELY SUBORDINATETO A $23+ IŠ�

�� + CONTAINS THE CONDITION: +0 OR� +0� OR

�� + CONTAINS A CONDITION OF THE FORM+0_ +00OR+00_ +0�

�� + CONTAINS A CONDITION OF THE FORM+0 ) +00�

�� 4HERE IS A CONDITION+ ) +0 IN SOME+00�

+0 ISSUBORDINATETO+ IF+0 IS CONNECTED TO+ VIA IMMEDIATE SUBOR

DINATION ��UP OR LEFT IN CONDITIONALS�	�

4HAT IS� IF THERE IS A CHAIN+0 = +� ; +� ; :::; +N� � ; +N = + WHERE FOR ALLI�
+I IS IMMEDIATELY SUBORDINATE TO+I� � �

� .OW� A PRONOUN IN+0CAN ACCESS REFERENTS IN ALL $23S+ THAT+0 IS
SUBORDINATE TO�
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!CCESSIBILITY �.EGATION	

� .EGATION BLOCKS BINDING�

���	 “T IS NOT THE CASE THAT A MAN IS RUNNING�# (E TAKES HIS TIME�

:

X

man(X)

runs (X)

take_time (?X)

� 4HIS IS ACTUALLY1NE� BUT FOR DIŠERENT REASONS �LATER�	�

���	 “T IS NOT THE CASE THAT *IJA IS RUNNING� (E TAKES HIS TIME�
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!CCESSIBILITY �.EGATION	

� .EGATION BLOCKS BINDING� BUT ONLY IF THE REFERENT IS BELOW THE
NEGATION�

���	 ! MAN IS NOT RUNNING� (E TAKES HIS TIME�

X

man(X)

:
runs (X)

take_time (X)
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!CCESSIBILITY �.EGATION	

���	 .OT EVERY MAN IS RUNNING�# (E TAKES HIS TIME�

: X

man(X)
)

runs (X)

take_time (?X)

$ISCOURSE 2EPRESENTATION 4HEORY �� = ��



!CCESSIBILITY �$ISJUNCTION	

� #AN�T GO LEFT OR RIGHT IN DISJUNCTION �THIS IS ACTUALLY CONTROVERSIAL	�

���	 %ITHER A MAN IS HAVING TEA OR?HE IS HAVING COŠEE�

X; Y

man(X)

tea (Y)

have(X; Z)

W
Z

coffee (Z)

have(?X; Z)

� 4HIS IS ACTUALLY1NE� BUT FOR DIŠERENT REASONS �LATER�	�

���	 %ITHER *IJA IS HAVING TEA OR HE IS HAVING COŠEE�
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4RUTH



“NTERPRETATION OF $23S� 7ORLD -ODEL

� 7E WANT TO HAVE A MATHEMATICAL NOTION OF TRUTH CONDITIONS�

� ! MODEL IS A TUPLE- = ( 7 - ; $ - ; . - ; 0- ) WHERE

� 7 - IS A SET OF POSSIBLE WORLDS�

� $ - IS A SET OF THINGS �THE DOMAIN OF REFERENCE	�

� . - IS AN ASSIGNMENT OF NAMES TO THINGS �. - : NAME ! $ - 	�

� AND0- IS AN ASSIGNMENT OF PROPERTIES TO THE SET OF ALL THINGS THAT
HAVE THAT PROPERTY IN A WORLD �0- : 7 � PROP! P ($<!

- )�

� ! SENTENCE LIKE�*ULIAN IS HAPPY� IS TRUE IN- ; WIŠ THE SET
0- (W; happy) CONTAINS THE THING. - (Julian)�

� 7E WRITE- ; W j= ' FOR� ' IS TRUE INWACCORDING TO- � �

4RUTH �� = ��
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“NTERPRETATION OF $23S� 2EFERENT %XTENSION

� 4HE IDEA IS THIS� A $23S TELLS US A STORY ABOUT HOW SOME THINGS
HAVE SOME PROPERTIES�

� 4O EVALUATE WHETHER IT IS TRUE� WE NEED TO1ND PEOPLE IN A WORLD
MODEL THAT HAVE THESE PROPERTIES�

� .EW $23S MAY ADD NEW PEOPLE TO TALK ABOUT�

2EFERENT !SSIGNMENTS
,ET - = ( 7 - ; $ - ; . - ; 0- ) BE A MODEL� ,ETF; G : REF ! $ - BE
PARTIAL FUNCTIONS FROM VARIABLES TO OBJECTS IN THE MODEL�
7RITEG > F ��GEXTENDSF�	 IFDOM(G) � DOM(F) AND FOR ALLX 2
DOM(F)� F(X) = G(X)�

4RUTH �� = ��
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“NTERPRETATION OF $23S� 4RUTH

� 2EFERENTS EXTEND VARIABLE ASSIGNMENTS�

� 4HE CONDITIONS IMPOSE TESTS ON ASSIGNMENTS�

$24 3EMANTICS
,ET- BE A MODEL� $E1NE BY SIMULTANEOUS RECURSION FOR ANYW2 7 -

AND ANY ASSIGNMENTSF; G�

�� FJh5 ; Consi K- ;WGIŠ G> F� 5 � DOM(G) AND- ; W; Gj= $24 # FOR ALL
# 2 Cons�

�� - ; W; F j= $24 2(X� ; � � � ; XN) IŠ - ; W; F j= 2(F(X� ); � � � ; F(XN)) �

�� - ; W; F j= $24 : + IŠ THERE IS NOGWITHFJ+K- ;WG�

�� - ; W; F j= $24 � + IŠ THERE IS AV2 7 AND AGWITHFJ+K- ;VG�

�� - ; W; F j= $24 +�
W

+� IŠ THERE IS AGWITHFJ+� K- ;WGORFJ+� K- ;WG�

�� - ; W; F j= $24 +� ) +� IŠ FOR EVERYGWITHFJ+� K- ;WG� THERE IS AH
WITHGJ+� K- ;WH�

4RUTH �� = ��
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� “F YOU WANT SOMETHING THAT LOOKS MORE LIKE A TRUTH
CONDITION�
- ; W; F j= + IŠ THERE IS AG� FJ+K- ;WG

$24 EMBEDS INTO -ODAL 0REDICATE ,OGIC �3�	
$E1NE RECURSIVELY�

� (0K(X� ; : : : ; XK))~ � 0KX� ; : : : ; XK�

(XI = XJ)~ � (XI = XJ)�
(: +)~ � : +~ �

(+� _ +� )~ � (+~
� _ +~

� )�

� “F+� = hfX� ; : : : ; XNg; f Con� ; : : : ; ConMgi � THEN

+~
� � 9X� : : : 9XN(Con~

� ^ : : : ^ Con~
M )�

(+� ) +� )~ � 8X� : : : 8XN((Con~
� ^ : : : ^ Con~

M ) ! +~
� )�

� - ; W; F j= + IŠ - ; W; F j= -0, +~ �

4RUTH �� = ��
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$ONKEY 3ENTENCES�“NFORMALLY

� � “F A FARMER OWNS A DONKEY� HE BEATS IT��

�
F; D

farmer (F)

donkey(D)

owns(F; D)

)
beat (F; D)

� � 7HENEVER WE HAVE A FARMER AND WE HAVE A DONKEY AND THE
FARMER OWNS THE DONKEY� THEN THE FARMER BEATS THE DONKEY�

4RUTH �� = ��



$ONKEY 3ENTENCES� &ORMALLY

�

F; D

farmer (F)

donkey(D)

owns(F; D)

)
beat (F; D)

IS TRUE FOR- ; W; ; IŠ

� &OR EVERYG> ; WITH- ; W; Gj=

F; D

farmer (F)

donkey(D)

owns(F; D)

4HERE IS AH > GWITH- ; W; H j=
beat (F; D)
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$ONKEY 3ENTENCES� &ORMALLY

�

F; D

farmer (F)

donkey(D)

owns(F; D)

)
beat (F; D)

IS TRUE FOR- ; W; ; IŠ

� "ECAUSE THE TOP PART OF THE RIGHT BOX IS EMPTY�H = G�

&OR EVERYGWITH- ; Gj=

F; D

farmer (F)

donkey(D)

owns(F; D)

� - ; Gj=
beat (F; D)

4HIS IS TRUE EXACTLY IF �IN- 	 ALL FARMERS BEAT ALL
THEIR DONKEYS�
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#ONSTRUCTING $23S



2ECAP

� �4O UNDERSTAND �THE MEANING OF	 A SENTENCE IS TO KNOW THE
CIRCUMSTANCES IN WHICH IT IS TRUE��

� 7E HAVE SEEN SOME SENTENCES THAT WE CANNOT SEEM TO
UNDERSTAND�
� INCOHERENT SENTENCES�

� 3O NOW WE SPEAK NOT OF THE TRUTH OF SENTENCES �SHOULD NOT DO
THAT ANYWAY�	 BUT OF THE TRUTH OF SEMANTIC REPRESENTATIONS�

� �4O UNDERSTAND �THE MEANING OF	 A SENTENCE IS TO KNOW THE
CIRCUMSTANCES IN WHICH ITS SEMANTIC REPRESENTATION IS TRUE��

� .ATURAL ,ANGUAGE 3ENTENCES $23S 7! -ODELS � WHERE�

 := THE DISCOURSE REPRESENTATIONCONSTRUCTION ALGORITHM�
7! := A TRUTH
CONDITIONAL MODEL
THEORETICEMBEDDING�

#ONSTRUCTING $23S �� = ��
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UNDERSTAND�
� INCOHERENT SENTENCES�

� 3O NOW WE SPEAK NOT OF THE TRUTH OF SENTENCES �SHOULD NOT DO
THAT ANYWAY�	 BUT OF THE TRUTH OF SEMANTIC REPRESENTATIONS�

� �4O UNDERSTAND �THE MEANING OF	 A SENTENCE IS TO KNOW THE
CIRCUMSTANCES IN WHICH ITS SEMANTIC REPRESENTATION IS TRUE��

� .ATURAL ,ANGUAGE 3ENTENCES $23S 7! -ODELS � WHERE�

 := THE DISCOURSE REPRESENTATIONCONSTRUCTION ALGORITHM�
7! := A TRUTH
CONDITIONAL MODEL
THEORETICEMBEDDING�
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$23 #ONSTRUCTION !LGORITHM �+AMP AND 2EYLE ����	

� �“T�S ASHIFT
REDUCEALGORITHM� IN CASE THAT MEANS SOMETHING TO
SOMEONE�	
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3EGMENTATION

�

X� ; : : : ; XN

� �

���

� M

L
3; 30; : : :  

X� ; : : : ; XN

� �

���

� M

3

L
30; : : :

� “F THIS STOPS BEFORE ALL3 HAVE BEEN DEALT WITH� THE DISCOURSE IS
INCOHERENT�

#ONSTRUCTING $23S �� = ��



$23 #ONSTRUCTION !LGORITHM� .AMES

#ONSTRUCTING $23S �� = ��


	Anaphora
	Binding
	Discourse Representation Theory
	Truth
	Constructing DRSs

